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1.	Introduction
mmWave NR BS receiver dynamic range was discussed in RAN4#82, and a way forward to further study the noise floor rise was agreed [1].
This contribution provides the simulation results per the agreed way forward, and a proposal for the mmWave NR BS receiver dynamic range.

2.	Discussion
[bookmark: _Toc336211415]Figure 1 shows the UL interference-over-thermal (IOT) simulation results for the 30 GHz dense urban scenario using the existing simulation assumptions of WP5D coexistence study captured in the TR 38.803 [2]. Here IOT is defined as the ratio between the total interference (with or without interfering system) and the BS noise floor. Moreover, 17 dB UE ACLR, 23.5 dB BS ACS and 10 dB BS NF are used as in the response to WP 5D [2].
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(a) 0 dB UL TPC error
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(b) 9 dB UL TPC error
Figure 1: CDF of UL IOT of victim BS (30GHz)
Figure 2 shows the UL interference-over-thermal (IOT) simulation results for the 45 GHz dense urban scenario using the existing simulation assumptions of WP5D coexistence study captured in the TR 38.803 [2]. Here 16 dB UE ACLR, 22.5 dB BS ACS and 12 dB BS NF are used as in the response to WP 5D [2].
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(a) 0 dB UL TPC error
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(b) 9 dB UL TPC error
Figure 2: CDF of UL IOT of victim BS (45 GHz)
It can be seen in Figures 1 and 2 that for both 30 GHz and 45 GHz, adopting the 20 dB receiver dynamic range requirement (currently specified for Medium Range E-UTRA BS) will provide sufficient protection for NR BS receiver against intercell interference from own and adjacent systems. On the other hand, a more relaxed requirement would still be sufficient (e.g. 10 dB for 96.8 %-tile) and could ease implementation and reduce cost and complexity. Hence it is proposed to use the 20 dB receiver dynamic range requirement as a starting point for the mmWave dense urban scenario, and further consider a more relaxed requirement to ease implementation cost and complexity while still providing sufficient protection for NR BS receiver against intercell interference from own and adjacent systems. Note that relaxing the receiver dynamic range requirement has the disadvantage of making the test more sensitive to the BS NF.

3.	Conclusion and proposals
This contribution has provided the UL IOT simulation results for the mmWave dense urban scenario per the agreed way forward, and proposed to use the 20 dB receiver dynamic range requirement as a starting point for this scenario, and further consider a more relaxed requirement to ease implementation cost and complexity while still providing sufficient protection for NR BS receiver against intercell interference from own and adjacent systems.
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